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[21] 16~219 Fd7|# 2 4
A%ole
T8 7| o 4 1
SEAR [ A A
1 FITIAI & A T3 0 19
2 KOTITIA & 4 -2 0 9
3 |HHIAREATH 1 2
4 |d=zerisd 0 | 2
5 |MALAAFE 0 5
6 |otmamleina 0o | 7
7 | B2 MATLH 21,20,19,18 2 4
8 |er=uMysoi7e 0o | o
9 St=atet|sd 3 21,20,19(+4),19,18,17,16 37 182
10 |e=&7=4 21,20,19,18 3 11
| S=2(AAF 20,19,18,17 2 28
12 | et=7|=2ntst 0 7
13 |e=Lter=¥ 19(4),17 1 1
14 |et=ddz3std 74 21,20,19,18,17,16 4 28
15 | e=4LT =74 21,20,19(%4),19,18,17,16 35 203
16 | St=MFHeddA T3 0 1
17 | e=d7arod 7 0 2
18 | e=AMaEtY7|=H 21 2019("74)19,17 2 1"
19 |et=AEd+H 21,20,19,18,17 0 60
20 | et=Algms 0 2
21 | =0 X7|=A T~ 21,20,19,18,17,16 8 80
22 | et=EAE AT 1 2
23 |stzelmA g 0
24 |e=RE AT 1
25 |et=MEHdT | 21,20,19(%4),19,18,17,16 3 74
26 | S=HI|ATH 21,20,19,18,17,16 2 39
27 | et=dAS AT 21,20,19,18,17,16 8 79
28 | St=XIEAAATHA 21,20,19,18,17 8 54
29 |=HEETH 2 0
30 | et==tetE A 21,20,19(F4 11 66
A 131 992 -
0 FAR) R FFYATL 307 /1B, A5 Zol(3A} 131, 44k 992)




